# Dianella Secondary College



YEAR TEN 2024

2024
24 845 10 B

# ALL ORDERS MUST BE COMPLETED Online at www.campion.com.au by Friday 15th December 2023 Using "X789" as your code

Orders can still be placed past the 'return date' but it may incur a late fee.

### PREPACKAGED DELIVERY SERVICE

Your home delivery order will be dispatched for \$4 no later than the week ending 19th January 2024 but where possible will be dispatched earlier, if placed on or before the cut-off date of Friday 15th December 2023.

Orders can still be placed after the cut-off date but there will be a late fee of up to \$17.50.

Please refer to Campion's website www.campion.com.au for up-to-date information on our trading hours and our full terms and conditions.



Office Use	Description	Item No.	☑ Item Reqd	Qty Reqd	Unit Price \$	Total Amount \$
	YEAR TEN					
	SCHOOL RESOURCE					
F61621	Resilience Journal  Please provide payment to Campion. The resource will be distributed in class.	1		1	20.00	20.00
	ARTS & CRAFTS					
P55439	Display Book A3 20 Pocket Black Insert Cover (Non-Ref)	2		1	9.55	9.55
P51252	Markers Texta Nylorite TX200/24's Asstd/Cols Wallet	3		1	6.45	6.45
P56130	Pen Felt Tip Fineliner Black	4		2	2.85	5.70
P52001	Pencil (2B) Goldfaber	5		4	0.65	2.60
P56257	Pencils-Coloured 24's Colourush	6		1	10.45	10.45
P56245	Sharpener Pencil Metal Single Hole (HQ)	7		1	0.85	0.85
P55439	ARTS - DESIGN CONCEPTS Display Book A3 20 Pocket Black Insert Cover (Non-Ref)	0		1	9.55	9.55
P55522	Eraser Plastic Pencil Economy in sleeve	8 9		2	0.70	1.40
P51252	Markers Texta Nylorite TX200/24's Asstd/Cols Wallet	10		1	6.45	6.45
P56130	Pen Felt Tip Fineliner Black	11		2	2.85	5.70
P52001	Pencil (2B) Goldfaber	12		4	0.65	2.60
P56257	Pencils-Coloured 24's Colourush	13		1	10.45	10.45
	CRIME AND CRIMINOLOGY					
P55442	Display Book A4 20 Pocket Black Refillable	14		1	2.15	2.15
P50046	Lecture Pad A4 7mm 70 Leaf	15		1	3.35	3.35
	DANCE (No text required)					
	DIGITAL TECHNOLOGIES - APPLIED COMPUTING A AND B					
P55442	Display Book A4 20 Pocket Black Refillable	16		1	2.15	2.15
P52086	USB Pocket Flash Drive 32GB - NO RETURNS	17		1	14.05	14.05
	(Note: Only one USB required for all computing subjects)		_			
	DIGITAL TECHNOLOGIES - IMMERSION A AND B					
P55442	Display Book A4 20 Pocket Black Refillable	18		1	2.15	2.15
P52086	USB Pocket Flash Drive 32GB - NO RETURNS	19		1	14.05	14.05
	(Note: Only one USB required for all computing subjects)		_			
	DESIGN & TECHNOLOGY - ENGINEERING METALS A SEMEST	ER 2	ONLY			
P55442	Display Book A4 20 Pocket Black Refillable	20		1	2.15	2.15
P56095	Pen Ballpoint Cap Type Blue Medium	21		2	0.35	0.70
P50271	Pencil (HB) Goldfaber	22	$\overline{}$	3	0.65	1.95
P56428	Safety Glasses Clear Wrap Around	23		1	6.45	6.45
	DESIGN & TECHNOLOGY - FURNITURE DESIGN (WOOD) SEM		R 1			
P55442	Display Book A4 20 Pocket Black Refillable	24		1	2.15	2.15
P56095	Pen Ballpoint Cap Type Blue Medium	25		2	0.35	0.70
P50271	Pencil (HB) Goldfaber	26		2	0.65	1.30
P56428	Safety Glasses Clear Wrap Around	27		1	6.45	6.45

Office Use	Description	ltem No.	<b>√</b> 1 Item Reqd	Qty Reqd	Unit Price \$	Total Amount \$			
	DRAMA								
P55110		20		1	E 2E	E 25			
P58510	Binder A4 2D Ring 25mm PE Black	28 29		1	5.35	5.35			
P56130	Eraser Plastic Pencil Large With Sleeve	30		2	0.40	0.40 5.70			
P52001	Pen Felt Tip Fineliner Black	31			2.85 0.65	0.65			
P56257	Pencil (2B) Goldfaber Pencils-Coloured 24's Colourush	32		1 1	10.45	10.45			
	FINE ART								
P55439	Display Book A3 20 Pocket Black Insert Cover (Non-Ref)	33		1	9.55	9.55			
P55522	Eraser Plastic Pencil Economy in sleeve	34		2	0.70	1.40			
P51252	Markers Texta Nylorite TX200/24's Asstd/Cols Wallet	35		1	6.45	6.45			
P56130	Pen Felt Tip Fineliner Black	36		2	2.85	5.70			
P52001	Pencil (2B) Goldfaber	37		2	0.65	1.30			
P52013	Pencil (4B) Goldfaber	38		2	0.65	1.30			
P56257	Pencils-Coloured 24's Colourush	39		1	10.45	10.45			
	ENGLISH								
P55442	Display Book A4 20 Pocket Black Refillable	40		1	2.15	2.15			
P50046	Lecture Pad A4 7mm 70 Leaf	41		2	3.35	6.70			
	HEALTH EDUCATION								
P54148	Exercise Book 225x175mm 64 Page 8mm Spirax	42		1	1.05	1.05			
	HOME ECONOMICS - CARING FOR BABIES AND CHILDREN A AND B								
	(Lunch box sized food container. Students are required to wear closed in shoes and long hair must be tied back, when working in the kitchen and textiles room.)								
	Students may be required to purchase additional fabrics and notions for projects of a students choice.								
	Requirements for this course are listed in the general stationary list.								
	HOME ECONOMICS - SEMESTER 1 - FOODS OF THE WORLD								
	(Lunch box sized food container. Students are required to wear closed in shoes and long hair must be tied back, when working in the kitchen.)								
	Requirements for this course are listed in the general stationery list.								
	HOME ECONOMICS - SEMESTER 2 - EASY ENTERTAINING - CAFE CULTURE								
	(Lunch box sized food container. Students are required to wear closed in shoes and long hair must be tied back, when working in the kitchen.)								
	HOME ECONOMICS - SEMESTER 1 - CLOTHING, CRAFT, FASHION AND TEXTILES								
	(Students will be required to purchase additional fabrics and notions for projects of a students choice.) Requirements for this course are listed in the general stationery list.								
	HOME ECONOMICS - SEMESTER 2 - FASHION AND CRAFT TECHNOLOGY								
	(Students will be required to purchase additional fabrics and notions for projects of a students choice.)								
	Requirements for this course are listed in the general stationery list.								
	HUMANITIES AND SOCIAL SCIENCES								
P19484	Oxford Big Ideas WA Humanities & Soc Sci 10 Skills & Act Bk [Conti et al	1 43		1	19.95	19.95			
DEE442	Oxidia big ideas WA Hullianides & Soc Sci. 10 Skills & Act bk [Conti et al.	1 43		1	19.90	0.45			

1

2

45

46

2.15

3.35

3.95

2.15

6.70

3.95

P55442

P50046

P50321

Display Book A4 20 Pocket Black Refillable

Lecture Pad A4 7mm 70 Leaf

Pencils-Coloured 12's Bic Evolution

Office Use	Description	Item No.	☑ Item Reqd	Qty Reqd	Unit Price \$	Total Amount \$
	IMPROVISING (DRAMA)					
P55110	Binder A4 2D Ring 25mm PE Black	47		1	5.35	5.35
P58510	Eraser Plastic Pencil Large With Sleeve	48		1	0.40	0.40
P56130	Pen Felt Tip Fineliner Black	49		2	2.85	5.70
P52001	Pencil (2B) Goldfaber	50		1	0.65	0.65
P56257	Pencils-Coloured 24's Colourush	51		1	10.45	10.45
	MATHEMATICS					
P52231	Calculator Jastek Scientific	52		1	30.95	30.95
	(Retain from previous year)					
P55442	Display Book A4 20 Pocket Black Refillable	53		1	2.15	2.15
P50451	Exercise Book A4 96 Page 8mm with Margin Spirax #108	54		1	1.65	1.65
Droop	MUSIC					
P52086	USB Pocket Flash Drive 32GB - NO RETURNS	55	Ц	1	14.05	14.05
	OUTDOOR EDUCATION (No text required)					
	PHYSICAL EDUCATION (No text required)					
	PHYSICAL RECREATION (No text required)					
	PHOTOGRAPHY					
P55335	Compact Disc Re-Writeable CD-RW (Single)	56		1	2.20	2.20
P55442	Display Book A4 20 Pocket Black Refillable	57		1	2.15	2.15
P52086	USB Pocket Flash Drive 32GB - NO RETURNS	58		1	14.05	14.05
	(Note: Only one USB required for all computing subjects)					
	PSYCHOLOGY (ELECTIVE)					
P55442	Display Book A4 20 Pocket Black Refillable	59		1	2.15	2.15
P50046	Lecture Pad A4 7mm 70 Leaf	60	$\overline{\Box}$	1	3.35	3.35
	SCIENCE					
	(Loan books provided)					
P50451	Exercise Book A4 96 Page 8mm with Margin Spirax #108	61		2	1.65	3.30
	STEM					
P55442	Display Book A4 20 Pocket Black Refillable	62		1	2.15	2.15
P50046	Lecture Pad A4 7mm 70 Leaf	63		1	3.35	3.35
P51682	USB Drive 32GB 3.0 - NO RETURNS	64		1	19.95	19.95

Office Use	Description	ltem No.	☑ Item Reqd	Qty Reqd	Unit Price \$	Total Amount \$
	GENERAL STATIONERY					
P54035	2024 Diary A5 Student Cumberland	65		1	2.15	2.15
P55709	Dividers Index A4 5 Tab (Board)	66	$\overline{\Box}$	2	1.10	2.20
P58510	Eraser Plastic Pencil Large With Sleeve	67		2	0.40	0.80
P51353	Glue Stick 40gm Artline Purple	68		2	2.75	5.50
P50613	Highlighters Pkt 4 Assorted	69	$\overline{\Box}$	1	7.70	7.70
P55097	Lever Arch File A4 75mm Board	70		2	5.35	10.70
P56388	Loose Leaf Refills Reinforced A4 7mm Pkt 100	71		1	3.80	3.80
P50113	Markers Faber Project Wallet 12 Assorted	72		1	3.45	3.45
P56094	Pen Ballpoint Cap Type Black Medium	73		2	0.35	0.70
P56095	Pen Ballpoint Cap Type Blue Medium	74		2	0.35	0.70
P56096	Pen Ballpoint Cap Type Red Medium	75		2	0.35	0.70
P50271	Pencil (HB) Goldfaber	76		2	0.65	1.30
P56257	Pencils-Coloured 24's Colourush	77		1	10.45	10.45
P56328	Pocket Plastic A4 11 Hole Pkt 10	78		2	1.30	2.60
P50090	Ruler 300mm Wooden	79		1	1.10	1.10
P58507	Scissors 155mm Plastic Handle	80		1	2.95	2.95
P52086	USB Pocket Flash Drive 32GB - NO RETURNS	81		1	14.05	14.05

Number of Boxes ticked:	
Postage (Home delivery only)	\$4.00
ESTIMATED AMOUNT DUE (PRICES CORRECT AT 08/11/23)	\$